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SOCIAL SCIENCE
Full Marks — 80
Pass Marks — 20
Time : Three hours

The figures in the right hand margin indicate full marks for the questions.

SECTION — A
(GEOGRAPHY)
Marks — 27

Answer Question Nos. 1and 2in a sentence each.

1. Why does the Himalayan region have no large reserves of economically
viable mineral resources? 1

AfREsN ERRRR " I-SRMT TR HETvAS TRE Refmf gemofn dwels
merfmfe® 2

2. Why isterrorism regarded as a man-made disaster 7 1
mef AR eaPafzrs werRmf wfZowe Uk KT Zafse® ?
Answer Question Nos. 3 to 5in about 30 words each.

3. Organic farming has been taken up widely today in India. Justify the
statement with two points of support. 2

Cemefr Eerfn Tof meofsaf Jews M oTe mERde | REFOT XF5 ARsof
TCRES TelE MHe BOs i
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10.

Mention the two most important cereal crops of Manipur. 2
FEfme, TRRAN, REUSS XITerm! kA -RePD  welfs mel @efe® Brs |

Give two points of difference between Mumbai Port and Kochi Port in
respect of location and size. 2

rerie wef mfae Mumbal wraf Kochi #fduer wefmf Jer whsf mor-REsm
erm Cafs ReEes Un Boe |

Draw a full page outline map of India and mark and label therein the
following :

The Vishakapatnam Steel Plant 1+1=2
B TET JedEl RN TR RS THROD kRa iefsof KEF STee 548 |
NfORMBCE ORI TREEH
Answer Question Nos. 7 to 10in about 50 words each :

Explain any three benefits that we obtain directly and indirectly
from forests. 3

WKe Sham! were Ukal CEAIC EF BECs TARM Raw OTRIT B

Suggest any three measures which would be helpful for the conservation of
water resources. ' 3

sOfmf sen mess fmen THMas ReE TARN Rews 5T |

Explain three main problems that are being faced by Indian farmers in
agricultural sector. 3
Sl SRfofe E-0fIS cFn RRPTCETS RETSE MEPEEF TAF OTRIT
RIS |

Why is it necessary to adopt a sustainable path of energy resources
developmentand conservation in India ? 3
gkt OrRf SEofmy RN TROD RIR4ME TESE =57 (PIATHRe
REWM MPWTS ersl Th Rmnl FL’ Refs @efmies 7
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13.

14.

Answer Question No. 71 in about 120 words.

Explain any five factors that have led to the localisation of jute industry in
and around Hugli basin. >

mer Fall MPsie Hugli sseeamf Cr-ses wiesl »omenmf TEPkss it Feaowef
ER @moe dofIefsmf ReRs OTRmT 59

Or/e4serm

Explain five factors which are responsible for shifting of sugar industry
towards south India. 5

xfefvf seaowe’ » e rs AR RETES ReF fd MIAC ORI 55 I

SECTION -B
(HISTORY)
Marks - 27

Answer Question Nos. 12to 15in about 50 words each.
In what ways did the liberalism bring changes in France since the French
Revolution ? 3
EQEe 234, RO EQTOR SfaeelARe Bers RIUs TADS Mamwisme |
Write three important results of the Revolution of 1848 in France. 3
wefosmf BROFD sseemf 23ATE EATOR PIATE RATHS EX TARRID
B
"A real test of the Patriotism of the Congress was on the question of the
partition of Bengal in 1905." Justify the statement by giving three points.
3
" mefom mROD se0¢ & BumPSE waswwisnt (Partition of Bengal) REr waie
Eeecomt RESm efUEmt OUPEE Foene Rosen w5 1"

REOF CARRD MIHC REF @Ol XEK ARE S4e |
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15. Write the ill effects brought by the Second World War to Manipur. 3
MEFEIBMMe Wefos dedse fefmes DUAThs TRE TR EX0fs 59 1

16. On the map of India drawn as answer to Question No.6 (of Geography
portion), locate the places with name where : 2

(a) General Dyer fired on the crowd in 1919,
(b)  Mahatma Gandhi broke the Salt law .

"7 © ¢ mf (of Geography portion ) Mswr st wewes e Fom wHH
ERMOM Tof PrEfs REFOMR FROr BPEee S6e -

(@) mefoxmf EROMD s$se & T°Ca™I RRAT RINF WICERR COR BMOMERE |
(b) FAWR Teafe THMf CrE TRERE
Answer Question Nos 77 to 79 in about 30 words each,

17. lllustrate how the free —trade theories of Adam Smith overshadowed the
mercantilist theories in England and other countries of the west in the middle
of the nineteenth century. 2

RETOHIl ST RAT-XM FRF REE OQT® Re'tn e CIoT@l THom
S ws CHF OB<BI € - R %% Snclersm! Fofaofie Remeesatommt

TOIIONE FRl OFAERT AFZOf TaFY @5CC BSOS |

18.  What prohibitions were imposed to the Indian press by promulgation of the
Indian Press (Emergengy Powers)Act in 1931. 2

nefordmEl Soaf sens & BURAT Meee (FREMECO! MHeM) Tomy SR mmofe

BCRIRE Maroolls Bers ofusmfn  mesfsme |
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19.

20.

21.

22.

Explain why itis said that Chinese and Japanese writings are on all types of
literature ? 2

OATBRM R WalIRmys Ruefz TROD Smefeofie 55ef ARralso! oemme
RIS |

Answer Question Nos. 20 and 21 in one sentence each.

Why was Gandhiji not satisfied with the outcome of the Second Round
Table Conference, 1931 ? 1

REfOHf BWROM Se&s TEl0F d¥es w5 meEa-Ton’ EIOfuss Nesfnfe
el MeERFET 7

Why was Germany called the most affected country in the First World
War ? Give one point. 1

zaRefe Mafsfsfmt wics Seéur WHRaEMf A°EC (PIwl Asafse ?
Answer Question No. 22 in about 120 words.

State the consequences of the Great Economic crisis of 1929 — 1939 on
England. 5

RAfCHI BFOFD SS8SAM 968 ENER TWRIE TS 0FI-ZAM RS THT BT
WHRACRE MFERefmR 557

Or/csam

How did the industrialization in England and India affect handicraft
industries of India ? 5

Re*Ew WHRON Jo® FEAOWA’ efInseliml 32mee Ky Bene Sodsed 5o
OFRC TSI ST, FEROBETE (PIATHEme |
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SECTION-C
(POLITICAL SCIENCE)
Marks—-13

Answer Question Nos. 23to 25in a sentence each.

23. Explain the influence of caste consideration at the time of formation of
Council of Ministers. 1

BISTONY TE REfORe (FS ReFR 24-ERM (B0<ar) NEF weesmt bt @il

24. Suggest one measure for improvement of working of the Manipur State
Commission for women. _ 1

RCIMEr R4 ERREIOE B0 RFECN T30 357 #°CC EN4TE Ss TR MEDTS ||

25. ldentify one main difference between public interest group and sectional
interest group among pressure groups. 1

TE=O EMOTT, FAIse MBS KEFEec)s M WHROMD CPIIME FEREeS
M Wl RS ke TKE RTCE Tk ROT R0 |

Answer Question No. 26 in about 30 words.

26. Analyse the reason for declaring India as a Union of States deliberately
avoiding the word federation’. 2

NI TRRCT EFE=OC ARE RA AAERC Azl sufwe Ase ewersmt
RaF T |

Answer Question No. 27 in about 50 words.
27. State three advantages of political decentralisation or Panchayati Raj. 3

SF SR SAIREMT TRe MERRST G2 FRURS TARs 5280
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28.

29.

30.

31

32.

Answer Question No. 28 in about 100 words.

Explain five main advantages by which we can prove that a democratic
Govemmentis better than the alternative ones. 5

MERERLT CHION Tee Frs oeweofmamt 58 7Jef 35 Sen RS
RRURE FlRl OTRre RUs |

SECTION-D
(ECONOMICS)
Marks — 13

Answer Question Nos. 29to 37in a sentence each.

What are the various components of Gross National Income for providing
more accurate picture of many developing.countries ? 1

Rean4emars éfﬁwmi‘mg ARE OFIC ROW RITENERT MaP0 T°00T STER
A REE R0 WHE FOTOM TF @el mafe® 2

Define Human Development Index. 1
HTRT AT FeaToRf TaF N Re A5y |

Point out the undesirable outcomes of the import substituting
industrialization strategy during the Five Year plans of India. 1

Sl X7 Fallivf S80 Fgms IRt TSR 2rm Tof! MCHTNrE ofezfese
SERW RERATCIN ST PUAICTRS Mens @ TH MTHC VIS |
Answer Question No. 32in about 30 words.

Analyse how the Indo — Myanmar Border Trade Agreement as a part of Act
East Policy shall transform the economy of the North Eastern states
including Manipur. 2
Sl I RS TETS WERETIN (T4 508 Toafor) b O TH T5C
RERRIGERE Bon paesEl Ruse FRCPMe R9C CRU-COemr Semr @zgofmmt
(XER%Y BEORT WADE AT | FR RKC SIS
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Answer Question No. 33 in about 50 words.

33. ldentify.the changes that have taken place with economic development in
the phase of Primary, Secondary and Tertiary sectors in National Income.
3

ewfmf WmMes STl RToa O°C-IHNf SFa XEn4cImmn SKee
MasRet, rEeEaaf THROD FerefRal oemseafmnt Ogmss A nemmimf
RO OE SIS |

Answer Question No.34 in about 100 words.

34. Which bank is the Central Bank of india? Explain any four important
functions performed by the Central Bank of India. 1+4=5

HARE FOme SesmEl meewacy 2O TE FERME TEIM° 7 (ERaed F°mm
TE FCAfRT MU ke T53 kd RefMf RoOFR OTRTT BT
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